TABELA ROBOT ZIEMNYCH - NASYPY

Pikietaz Powierzchnia Srednia powierzchnia Odlegtosc Objetosc S“”Ta
algebraiczna
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1,50 35,9 53,9 |e== ===
0 35,9 1,5 54
1,60 22,4 35,8
0 58,3 1,7 90
1,45 20,3 29,4
0| 786 1,2 119
1,20 17,2 20,6
0 95,8 1,2 140
1,30 25,7 33,4
0 121,5 1,4 173
1,30 18,0 23,4
0 139,5 1,2 197
1,30 15,8 20,5
0| 1553 1,4 217
1,55 15,1 23,4
0 170,4 1,7 241
1,55 18,5 28,7
0 188,9 1,4 269
1,15 26,6 30,6
0 215,5 0,9 300
0,95 17,4 16,5
0 232,9 1,0 316
1,30 14,2 18,5
0 247 1 1,6 335
1,30 11,8 15,3
0 258,9 1,0 350
1,00 17,3 17,3
0 276,2 1,0 367
1,00 22,8 22,8
0 299,0 1,0 390
0,85 17,5 14,9
0 316,5 0,7 405
1,00 14,4 14,4
0 330,9 1,3 419
1,45 12,6 18,3
0 343,5 1,6 438
1,55 14,3 22,2
0 357,8 1,5 460
1,35 18,3 24,7
0 376,1 1,2 485
1,50 22,0 33,0
0 | 398,1 1,8 518
1,75 13,4 23,5
0 411,5 1,7 541
1,65 14,3 23,6
0 425,8 1,6 565
1,30 23,5 30,6
0 4493 1,0 595
0,90 17,6 15,8
0 466,9 0,8 611
1,25 20,2 25,3
0 4871 1,7 636
1,60 14,9 23,8
0 502,0 1,5 660
1,15 13,8 15,9
0 515,8 0,8 676
0,55 11,0 6,1
0 526,8 0,3 682
0,35 18,5 4,7
0 540,3 0,4 687
0,40 16,9 6,8
0 557,2 0,4 694
0,60 21,5 12,9
0 578,7 0,8 706
0,65 17,6 11,4
0 596,3 0,5 718
0,65 21,3 13,8
0 617,6 0,8 732
0,80 8,4 6,7
0 | 626,0 08 == — T 739
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